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MEC-108  I  
MASTER OF ARTS (ECONOMICS) 

Term-End Examination, 2019 

MEC-108 :ECONOMICS OF SOCIAL SECTOR 

AND ENVIRONMENT 

Time : 3 Hours] 	 [Maximum Marks : 100 

Note : Answer questions from both sections as per instructions. 

SECTION-A 

Note : Answer any two questions from this section in about 500 

words each : 	 [2x20=40] 

1. Discuss the essence of the 'economy environment' 

interaction as captured by the Material Balance Model. 

2. Examine the tenability of education production function. 

3. Derive the average revenue productivity of physicians 

under the Party-Redisch model. 

4. Discuss the method of 'Environmental Cost Benefit 

Anaylsis' (ECBA). 

MEC-108/7500 
	

( 1  ) 	Il l 111111111 1 1111 1 1111 1 11111 



SECTION-B 

Note : Answer any five questions from this section in about 

250 words each : 	 [5x12=60] 

State the principal characteristics of a well defined 

'property rights system'. 

State the alternative approach to 'human capital' theory 

by way of Spence's theory of signalling. 

7. Indicate the difference between private and public supply 

of health services. 

8. Distinguish between the use value and non-use value of 

environment. 

9. Differentiate between the concepts of Hicksian- 

Sustainability and thel4artwick-Solow Sustainability. 

10. State the major findings of the field studies on CPRs 

management. 

11. 'Outline Sen's perspective of capabilities. 

12. Critique the issues behind the debate on the Land 

Acquisition Policy in India. 

	 x 	 
MEC-108/7500 
	

( 2 ) 



(GTErvirkr) 

tlill tr(1191; 2019 

cnr.t.t.--108 : tisitAch aq. 	cfraur 	\I-strut-4 

EI:RT : 3 qt 	 affirffiffIT 	: 

91E : 	 41Plt FART7F 	 \J-K1( 	TI 

te : Tff 3TPT 	4 gst t \371( 	 ititaq : 	: 500 

[2x20=40] 

1. 4.rd.q, Tf-g- gediTF gla 3i 	-'9 	et is 
tit( trrcr 	arrwrr titqi 

2. tRN rm-Frur rrf*7 etql 

3. citkraT gediTF 4 114)mcn1 t atm wryf u -ozrritdr 
t cal 

4. tlqicItuf vivid 	itafp1 (ECBA) 	t afity-11 

titql 

MEC-108/7500 
	

( 3  ) 	 [P.T.O.] 



91Z : qk:f ITT 	EIN SPA % ∎31-1( iWt§f7 (R1- 1-11 : 250 

SAT) 	 [5x12=60] 

5. 	t i¶ ft41I1 	c1 1441 eTtSTC aT-4-91-r t 1L-04 1srEf-d-r7.  

47471 

`Tir9.414 	 eiktrT 	itr&t 

kerT it4 quii tit7i 

7. T 44Ta4 t ftA 74 tlici ,,A4) eTrff 4 	wdr-471 

8. Erti-cur i wk9.  9cr 	 irT 4 	Tcrrz 

Thcift71 

9. 'ft-017 tirttr-dr c 	i a-#R ziRuilgoc 4 G.T -T 

wdr-471 

10. elgqi 	-1174ETff WC 47 	cLiclgit GIEREqf % 

TT4 	 Tdr-47I 

11. ii `trzr-dr am-dr tree149 t .-crturr SCI 

12. 'iitii z 14 aTf4ixer eft ER vu it4g IF 

t tPliat4-11 Therei 

x 

MEC-108/7500 	 ( 4 ) 


	Page 1
	Page 2
	Page 3
	Page 4

